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KIKIAR| S| F[BIATKRIKIKR|S|FIBIAIXIKIARIF|F]BIFIKRIKIKRIS]IFIEH]A] XK
101 [RE=E1 X | x| x A | X X | x X | x
102 |[R&E=E?2 x | % X X | % X | x
103 [R&=3 X A| X X | x x | x
104 |[R&E=4 X | x A|A| X X | % x | x
201 |HHE=ET A|A|A| X|x]|Xx X | X | A| A X A| x| X x | x
202 |BHE=D A A A| A Al X | A A X | x| A
203 |HHE=6 A A A| A A|A| A A X | x| A
204 |HHE=S A X| x| A|A| A x | x
205 |HHE=4 X| x| A|A| A x | x
206 |FAEERF= A| A A X | x
207 | ITfEE A A| A A A A| A A| A X | X%
208 |HHE=ET A A| A A|A|A|A|A|X A X | x A| A X | x A| A
209 |BHE=2 A A| A A|A|A|A|A| X A Ll I A| A X | % A| A
210 |F0=1 X | X A| x| X
211 |F0=2 X | X A| x| X
212 | XIEBEREE A x | x A| x| x
301 HRE=-EhHi51 A A| A A| A A A A A X| X| A A
302 |[HEB=E-EGHIH2 A A| A A| A A A A A X| X| Al A
303 [HBE - ELEFEAREE X | A X | X[ A X[ X A|A| X[ X|A]| X]| A X[ X|A|A|A| A
304 ZBm=E3 A| A A A| A X | x| A
305 ZBEME?2 A| A A A| A X | x| A
306 |ZBEW=E1 X | X X X X | x| A
307 [\EERETA () A X | x| A
308 |@EB=-FEHBHON A X [ x| A




